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(i) Answers may be written either in English or in
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throughout the paper.
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All questions are compulsory and carry equal marks.

(a)

Each question has internal choice.
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(i)

X purchases NSCs (VIII issue) on 15th March,
2009 for Rs. 10,000 and on 15th March, 2010 for
Rs. 20,000. He also purchases National relief
bonds worth Rs. 30,000 on ‘ISth ‘March, 2010.
State the amount of deduction he can claim
under section 80C for ‘the assesstment year 2010-11.
interest accruing on NSCs of Rs. 100
denomination for first year is Rs. 8.16 and for

second year, it is Rs. 8.83.

What shall be period of previous year of X who
newly starts his business on’ 15th August, 2009

for the assessment year 2010-11 ?
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(iif) X, a non-resident, lets out his house property in

()

)

Indiz to Y, a non-resident. State the nature and -

taxability of this income in the hands of X in india.

X, a foreign citizen whose grandparents were born
in Lahore in 1948 comes to India every year for
181 days since 1995. What shall be.his residential

status for the assessment year 2010-11 ?

After the death of X in the year 2004-05, Mrs. X
receives a pension of Rs. 3,000 per month from
her husband’s employer. State the head and amount
of income taxable in the hands of Mrs. X .for the

assessment year 2010-11. - 5

Explain the deduction under section 80E. 4

X is employed with the Central Government with effect

from 10th June, 2006, His details of income and investments

for the previous year 2009-10 are as follows -

Rs.
Income from salary . 9,60,000
(Rs. ‘80,000 per month)
Income from house property 40,000
Income from other sources 1,00,000

P.T.O.
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He deposits Rs. 70,000 in publicuprovidcnt fur;d and pays
Rs. 30,000 as tuition fees of ilis daughter studying in
a' school in Dethi. He also contributes Rs. 20,000 towards
pension fund of LI(:Z. He contributes 10% of his saiary
towards notified pension fund oi‘ the Central Government.
His employer also contributes an equivalent amount to

his pension fund. Compute his taxable income for the

assessment vear 2010-11, 6
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) (a) 'X, a citizen of India is working in Delhi with ABC Ltd.
He leaves India for the first time on 10th September

2009 for taking an overseas project of his employer company.

During the previous year 2009-10, he carns the following

incomes :

)

@,

@)
@

®

©

Salary from the Indian company
received in India for rendering

services in India

Salary from the Indian company

received outside India for rendering

services outside India’

Loss from business -in India

Long-term capital loss from

sale of building in India
Short-term capiﬁi gain from sale
of jewellery in India

Short-term capita! loss from sale

of personal car in India

6,00,000

6,50,000

{-50,000

{(-)80,000

30,000

(520,000
P.T.0.
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Compute the residential status and total income of X
for the assessment year 2010-11. He deposits Rs. 70,000
in public provident fund and bought Indira Vikas Patra

for Rs. 30,000 dﬁring the previous year 2009-1¢. 7

X (resident in India) and Y (non-resident in India) are
foreign citizens. During the previous year 2009-10, they
receive royalty income for authoring books of literary

nature. The details of their income are as follows :

) X Y
Royalty on books of literary
nature ~ | Rs.5,00,000 | Rs. 70,000
Royalty as percen.ts;ge 20% 15%
Expenses 0;1 earning royalty
income ' Rs. 7,000 | Rs. 5,000

X and Y deposit Rs. 10,000 each in public provident
fund. In addition, X pays medical insurance premium of
Rs. 10,000 on the health of his dependant brother and
Y pays Rs. 20,000 as medical insurance premium on the
health of Mrs. Y. Compute total income of X and Y

for the assessment year 2010-1}. \ 8
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2. Mrs. X is working with A.BC Ltd. since lst December 2006

in the pay scale of Rs. 40,000—Rs. 1,000—Rs. 65,000. She gets

-+

the following emoluments from the company during the previous

year 2009-10 :
_ Rs.
Dearness allowance (f(;nning part of
the salary) : 24,000 per annum
Lunch allowance 6,000 per z.mnum
Traﬂsport allowance ' 1,000 per month

. She is provided with a car (1800 c¢c) along with the driver
for official and privat;e use with effect from Ist February, 2010
as she stops getting transport a]lowance-from that date. Entire .
expenditure-of the car and the driver is'paid by the employer
company. She pays Rs. 300 per month to- the en-lployer for

use of the car and driver.

P.T.O..
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The company also provides her a rent-free furnished house
in Delhi with effect from 1st Janarys 2010. The house is taken
by company on lease at a monthly rent of Rs. 10,000, The
furnishings are owned by the employer. They were bought
on Ist April, 2008 for Rs. 48,000 and. their written down value

on- Ist April 2009 is Rs. 43,200. -

M-rs.' X contributes 15% of her salary (basic and dearness
allowafnce) to recognised provident fund to which her employer
makes a matching contribution. She also deposits Rs. 30,000
with LIC for maintenance of her dependant sister who is suffering

from disability of more than 80%.

Her minor son gets a gift of Rs. 12,825 from his relatives on
his birthday and Rs. 61,825 from his friends and friends of

his mother.

Compute net income and tax lability of Mrs.»X for the

assessment year 2010-11. Salary becomes due on last day

of each month. 15
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(a) . Dlscuss the taxability of perqmsnte in respect of Employee

Stock Option Plan. 5

() X (67 years), a non-resident owns a house in India which
is let out with effect from 1st October, 2009. The construction

of the house was completed on Ist September, 2009.
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The house is let out at a monthly rent of Rs. 50,000. = -

Rent of one month could not be realised. Other details

of the house are as follows :
.

Municipal valuation : Rs. 40,000 per month.

Mum"cipal taxes due for 2009-10 : Rs. 40,000 out of which
taxes.paid ﬂuring the year are Rs. 30,000. Out of this
Rs: 30,000, Rs. 20,000 is paid by the owner and
Rs. 10,000 is paid by the tenant during the previous

year 2009-10.

X took a loan of Rs. 10,00,000 from LIC on Ist September
2004 @ 12% per annum for construction of this house.
Rs. 2,00,000 was repaid on 31st March, 2007, Remaining

amount is unpaid so far.

Compute net income and tax liability of X for the assessment
year 2010-11. He spends Rs. 30,000 on medical treatment
of his dependaﬁt brother who is suffering from a disease
specified -in the rules made by the Board and claims
a deduction for the same under section 80DDB. His income

from other sources is Rs. 4,74,000. . 10

P.T.O.
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Mr. X has business income of Rs. 8,00,000 after debiting

depreciation of Rs. 80,000 on Building in his profit and

*

loss account for the year 2009-10. He bought the following

assets during the year :

(1) Building A bought on 1st March, 2009 for Rs. 3,00,000

and put to use on 31st March, 20i0 (Rate of

depreciation : 10%)

() Building B bought on 1st Atgust, 2009 for Rs. 4,€0,000
and put tc usc on 10th March, 2010 (rate of

" depreciation : 10%)

P.T.O.
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(3) Building C bought on 10th September, 2009 for

Rs. 5,00,000 and put to use on 15th August, 2010

(rate of depre;::iation : 10%)

- Compute business income of X for. the assessment year

2010-11. : o . 4

X (42 years) gives the following information for the previous

year 2009-10 :

(1) On December 1, 2009, he gets gift of House A
from his friend B (stamp duty value is determined
L]

at Rs. 6,00,000).

(2) On December 3, 2009, he gets gift of House B from
C (who is father-in-law of his elder brother) (stamp
duty value is Rs. 40,000, however, current market

value is Rs. 65,000).

(3 On December 7, 2009, X purchases a second hand
car for Rs. 70,000 from D (market value is, however,

Rs. 3,00,000).
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On December 14, 2009, X purchases a work of art
for Rs. S,O0,000 from E .(fair market value is

/
Rs. 5,30,000).

On December 20, 2009, X purchases jewellery for
Rs. 7,00,000 from F (fair market value is Rs. 7,25,000).

F is not a registered dealer.

On December 21, 2009, X purchases a painting for

Rs. 4,00,000 from G (who is brother of Mrs. X)

(fair market value is Rs. 7,00,000).

On December 24, 2009, X purchases a commercial
property for Rs. 20,00,000 from H (fair market value

is Rs. 90,00,000).

On December 25, 2009, X gets a gift of 100 preference
shares in A Ltd. frc;m J {on December 35, 2009, .
stock exchanges are closed, the lowest quotation
on the immediate preceding working day in National

Stock Exchange is Rs. 45).
P.T.O.
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{9 On Jaﬁuary‘ 25, 2010, X gets a gift cheque of-

Rs. 1,00,000 from his friend L on his birthday.

(10) On January 28, 2010, minor son of X gets the gif

of Rs. 55,000 from elder brother of X’s grandfather).

(I X contributes Rs. 10,000 in the public provident

fund account of his dependent mother.

Determine the amount of net income of X for the assessment

year 2010-11. -n-
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(@) Mr. X transfers the following assets dﬁing the previous

year 2009-10 :

Gold Urban Shares (listed) | Debentares
agricultural subject to {listed)
land securities

transaction  tax

D;ie of transfer : 10/4/2009 15/6/2009 10141"2009 101’7.’20_09
Date of acquisition 10/4/2008 12/7/2004 11/5/2008 10/7/2006
Sale consideration (Rs.) 10,0(),.000 12,00,000 9,00,000 7,50,000

Cost of acquisition (Rs.) 3,00.0.00 3,50,000 3,585,000 4.00,000

Expenses on transfer (Rs.} 50,0(.10 20,000 15,000 | 40,000

P.T.0.



%)

(V 24 ) 1663

X makes the following investments :

(1)  Residential house property purchased for Rs. 12,00,000
on 31/12/2009.

(2) 'NHAI Bonds purchased for Rs. 50,000 on 30/1/2010.
(3) REC Bonds purchased for Ks. 40,000 on 15/10/2009.

He has brought forward long-term capital loss of

Rs. .61,268 related to assessment year 2007-08 :
Cost inflation index for 2004-05 is 480
Cost inflation index for 2606-07 is 519.
Cost inflation index for 2008-09 is 582.
Cost inflation index for 2009-10 is 632.

Compute his total income and tax liability for the assessment

year 2016-11. , 13

X is a sole proprietor. His annual income is aiways more
than Rs. 50 lakh. For the assessment year 2010-11, he

wants to submit his retumn of income. Discuss the mode

- of submission of return of income. Is it necessary for

him to use digital signature ? 2
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(%) stxg@ ad 200910 F SR frefatan qfrgeafaaf

siafE W ?

A T Fww | fw (gEEE) | R

fa wff weEE | (EER)
TR e |

s fafy | 10;411059 151512009 10/4/200.9 10/7/200%
s fafy 101472008 | 120772004 11/5/2008 10/7/2006
faFt whrwd (?.) 10,00,000 12,00,000 9,00,000 7,50,000
&eg] m' ® Is,oo.oo'o 3,50,000 | 385000 | 4,00000

staen W @" (T) 50,000 20,600 15.000 40,000

x A frafafer faw feg :

() STErE TR gefa 311212000 T T 12,00,000
o w

() NHA! SYqH 30/1/2010 F T 50,000 H BN
(3) REC SHUF 15/10/2009 Y ¥ 40,000 § &R |
s freior r‘:lﬁ 2007-08 | gefed ST ffﬁ'\"’lﬁ

P.T.0,



( 26 ) | 1663
A ¢ 61,268 W i fem ¥
T TEIT GIHIE 2004-05 480
AT TR qEEE 2006-07 519
W TG GIHEE 2008-09 582
A TR GEEE 2009-10 632

ﬁﬁfmmfzolo-n%ﬁvrqé'eﬁimmaﬂt
 FEW stfvsfas wifim

(@)xqm'wrﬁ%lmaﬁaﬁaamzﬁwzso
O A e Bt &1 Frefer & 205011 B fog
et # vt B @ @ R R @
T Y TEIR F IV w H SEwEs
% ?

4. Explain any three of the following : 15

(@)  Provisions related to clubbing of income of spouse under

sections 64(1) (ii) and 64(1) (iv).

(6)  Provisions related to set off and carry'forward of business

losses.
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: (é) Verdict delivered by the Supreme Court in the case of

Shiela ‘Kaushish ¥s. CIT in the context of computing

annua! value of the house property.

() Tax treatment of pension in the handsr‘of employees.

freffan § ¥ el AW @ owR #R

(F) R 6a()) (i) 3R oMW 64(1) () & STl fa/aeit
& o @ WA A gam EEl

(@) =i wheE @ T o s et § Tt
TS |

(M) T UU @ affe 9 B sreed @ ued

¥ vien SR WM CIT ® ARG H Sem
Ea g e mn fE

7y e @ w § A R @R A e

Or
(3rgam
Explain any three of the following : 7 15

(@) Provisions relating to clubbing of income of minor child

under Sections 64(1A)

P.T.O.
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(b)  Provisions relating to set off and carry forward of capital

losses.

(¢)  Verdict delivered by the Supreme Court in the case of
CIT Fs. Raja Benoy Kumar Sahas Roy in the context

~of agricultural income.

-

(@) Tax treatment in respect of earned leave encashment.

fefafen 4 @ frdl @7 = == Fifeg

(%) 4N 64(1A) B AT HE9TF aEF T oW D
a'?:hm H Ueg 39N
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5. X and Mrs. Y are equal partners' of a partnership firm XY
and Co. engaged in manufacturing business. From the profit
and loss account of the firm given ahead, find out the net
income and tax payable by the firm and the partners for the

assessment year 2010-11.
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Profit and Loss Account for the year ending 2009-19

Rs. Rs.
~ Cost of goods sold 500000 | Sales 16,00,000
Salary to staff 580,000 | Long-term
 Wealth tax ‘ 50,000 papifal gains
Depreciation | 120000 | (computed) 1,00,000 |
© Fees for technical - Income from —
services 30,000 | lottery (net) 35,000
Remuneration to partners : Other business B
X 1,40,000 | receipts 2,00,000
Mrs. Y .| 70,000
.lntércst on capital
@ 20% |
X | 43,000
Mrs. Y 70,000
Other expenses "1 2,000,000
Medical insurance
premium on the health Y
~of Mrs. X 8,000
Net Profit . 1,24,000
19,35,000 19,35,000

P.T.O.
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Additional Informzztr'on :

(1)  Salary and interest to partners are paid as per the

partnership deed.
{2) Depreciation as per section 32 is Rs. 1,00,000.

(3)  Firm has paid bonus of Rs. 20,200 to employees relating

to financial year 2008-09 on 15/12/2009.

(4  Fees for technical services are paid outside India. Tax
should ha\_fe been deducted on this on 31st July, 2009
and de;‘)osited with the Government on 9th Augu'st, 2009,
Though tax has been deducted on 31st July, 2009,
it has been deposited with the Government on 31st

August, 2009.

(5) Salary to staff includes .salary to Mrs. X which is

_unrecasonable to the extent of Rs. 10,000.

(6) _Other expenses include Rs. 50,000 as donation to an
approved charitable institution for the purpose of promoting

family planning.
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Income and investments of X andr Mrs. Y are as follows :

X Mrs. Y
. ®Rs) - Rs)
Interest on Government securities 10,000 lS,OQO
Interest on commercial securities
(li;;ted) (net) 5,760 5,760
Income ‘ﬁ0;11 house property
(computed) = 2,00,000 2,20,000
Divi.dends from Indian company 40,000 30,000
Contribution to public provident
fund | \ , 50,000 60,000
Life insurance premium paid on
the life of spouse 30,000 50,000

(sum assured; (sum assured;
Rs.2,00,000) Rs. 2,10,000)

The firm complies with the conditions of Sections 184
and 40(b). 15

x 3 st v Wit w xy & co. # WM iR
®1 9 fafmin w1 wRER FwwE ¥ v @ frefafed
wu—‘aﬁﬁ@%wﬁaﬂtwﬁaﬁﬁﬁmaﬁ

P.T.O.
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2010-11 & foU y@ om ik +@z@ §w s
2009-10 @t AR T¥ @ fom @n-gifr S

3 7
fowie W =+ @ | 500,000 | fat 16,00,000
®E T M | 5,80,000 | SrfepTeTR

TAHT | 50,000 | oA @Y

PR ED 1,20,000 | (HiERfer) | 1,00,000
AT ITH 30,000 | SiEd |

WAl 1 uisifie - I (W5) | 35000 -
X 1,40,000 | = B

it v 70,000 | Tt 2,00,000
™ W 20% F R

R =

X _ 43,000

st v 70,000

= wd 2,00,000

Hadt X & Wy

w fafeen &

Eilpo 8,000
it 124000 |

19,35.000 . 19,35,000
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wiaea ga -

"

@

)

@

)

©

urfierl 1 3 3R = ik e % srEn
femr s ¥

U 32 % STIER oA T 1,00,000.

HH A 15122009 F fasfa o9 2008-09 B TrEE
4 wHSfE ® oz 20200 SAE R

Tkl Tl F fAu e w1 oymE wwa @
TR fhT T T W W W WA 31 g,
2009 & W AW ot R 3/ 9 3RA, 2000
H THER F UE W W S AU e gely
HL K FAA 31 T, 2009 B WA T feg
S8 WHEX B U 31 O, 2000 F S HUA

T

®WE & A § ooiadt x w1 d9w ot wnfaw
TS o7 10000 F ur W smfwgw ¥

I EEl q yEr fieR % dade @ faw
SR T HE W 250,000 W T W ¥

P.T.O.
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X AR st vy %1 o w@ fEw 3@ oweR ¥ .

X it v
) )
Tl whiyfdt W o= 10,000 15,000
i gingfadil w
(qHEs) = (8) | 5,760 5760
TR Gufd § [
(stfyfer) 2,00,000 2,20,000
adtr W A 40,000 30,000
A wfaw fafy 4 etvrm 50,000 60,000
ufa/acft # Saw W oueE

e smr wWfiem 30,000 50,000
(sum assured; (sum assured;
72,00,000) ¥ 2,10,000)

T 40 184 AR 40(b) F A F SHURH F@ D)



or

(3rgan)

(@)  From the following information, calculate tax liability of

X, a resident and ordinarily resident in India, for the

assessment year 2010-1] : 4
Rs.
Income from house property ‘ 1,60,000

Income from growing and manufacturing

tea in India 1,00,000
Share o-f profit from a firm carrying

agricultural business in Indié 1.20,000
Doﬁation to Prime Minister’s National

Relief Fund 40,000

(&) X (44 years) is a resident individual. For the previous

year 2009-10, he has the following information :
(1) Inceme from part-time employment : Rs. 2,32,000.

(2) Income from business of dealing in pesticides :

Rs. 9,00,000.
' P.T.O.
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Income from the activity of owning and maintaining

race camels : Rs. (-)25,000.

Long-term capital gain on transfer of silver :

Rs. 2,57,000.

Income from house property : Rs. 60,000.

Income from the activity of owning and maintaining

race horses : Rs. 51,000.

Deposit with SBI for claiming deduction under Section

80C : Rs. 50,000.

Apart from the above incomes, on August 12, 2009, X

purchases 1,000 equity shares in A Ltd. (of face value

of Rs. 10 per share) at the rate of Rs. 860 per share,

On September 10, 2009 (being record date), X gets 180

per cent dividend from A Ltd. On December 7, 2009,

X transfers 1,000 equity shares in A Ltd. at Rs. 840
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per share. X wants to set off the following losses brought

forward from earlier years :

M

ey

-3

@

House property loss of previous year 2008-09 -

Rs. 20,000.

Business loss of stee!l trading business of the previous
year 2007-08 : Rs. 30,000 (this business was

discontinued in 2008-09).

Loss from the activity of owning and maintaining

race hofses of previous year 2008-09 : Rs. 11,000.

Loss from the activity of owning and maintaining

_ race camels of previous year 2007-08 : Rs. 25,000.

Return for the assessment year 2008-09 was submitted

on luly 1, 2008 and return of the E;ssessment year

2009-10 was submitted on December 20, 2009,

Determine the net income and tax bability of X for the

assessment year 2010-11. Also determine the quantum

of losses to be carried forward to the next vear. 11

P.T.O..
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frerfefas g=m & o Fard st s o gt
W w Framt x = feRor ad o2010.00 @ R
o o B

- T® uefw R} am 160,000

(@)

ww # 9w w3 sk

fafmim | s 100,000
@ # FH FRER w3 amt

w1 @ TRR-TN 1,20,000
TaH Wt UNE e ww d TN 40,000

X (44 17) © Framh sfe & gd od
2009-10 % T s frfafas g @ & .

() sivwIfas fEeR | @ £ 232,000
2) HIEANER F SRER F § 3 T 900,000

G S5 ® T B wita IR w-wE
fearema & s : T (925,000
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@ TR s W S S o 22,5700
&) & HWIW H F™ T 60,0001

© < % AL B wfe gk - @
e | 39 T 51,000

(7) YIRI80C % 3T+t =Y ®in # fau wrea
@Eﬁaﬁﬁwzso,m}oy '

T sl # e x 3 12 e, 2000 B
T 860 Wid WA W T W A Led. B 1,000 TR
I R (sifwRa gea 7 10 ¥ D) 1 10 e,
2009 (HAEA *H THE) H X H A Ld QA
180 TfAw T fem ) 7 fweR, 2009 F A Lid.
H. 1,000 FFE U Az g40 W PR oA
foem i x o o ¥ s Frefen whe oW
R FE AR d

() T4 T4 2008-090 Ht & G B 2T 20,000

) qﬁﬂﬂfzom-osa}w’}amwﬁmﬁmﬂﬁ
B 2 30,000 (IT FRER 2008-09 ¥ =T T
e ) 7

P.T.O.
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@) T8 T8 2008-09 B Vg & A B w@rE
iR wE-TEm # fFawan ¥ w2 11,000

@ T 9 200708 F Az B FA F w@R
3 w-T@E & fEaman ¥ ;H 2 25,000

fauRor a9 2008-09 % fou famwol | SEmE 2008
® Wgd B M A R fauRm-ad 2009-10 FY

- oo 20 REER, 2009 A

frufoor = 2010-11 % faQ x & 3w e R
wRa Freifa #RQ o W enrie wEe
w1 Aen o fruife st



